123" Eigenvector

N, = 4 s=0 mgs =0

Irred. Representation : I'y

24
Eip3 = —Tlo
|Wig3) = 1[4,0,0,T'41)
= Ch31 (]0022) — |2200))
4+ Chos2 (|02du) — |02ud) + |20du) — [20ud) — [du02) — |du20) + |ud02) + |ud20))
+  Chazz (|0d2u) + [0du2) — [0u2d) — [0ud2) — |2d0u) — [2du0) + |2u0d) + |2ud0)
+ |d02u) + |dOu2) — |d20u) — |d2u0) — [u02d) — |u0d2) + |u20d) + |u2d0))
Cras—1 = —4V2t
—2A2)+3(J = 3(U + 6W))A1g + 9 (4t + (J — U — 10W)(U + 4W))
Ci3—2 =
9v2
1
Cizsg = —5V2 (J+U =20 + cos (62) V45 )

Nioz = \/201223,1 + 8C1223,2 + 160122373



